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General Knowledge and Other Skills - \
y 4 ) 18y i,
.‘ (Q.Nos: 1 to 50') .
l‘ 3 | ' 1
1 fEw s Rewia (P Fi) aifger of fafiy fretor o7 ST @ e’ 2
@A) do TR Ww ) o o Ko FTEEHT ;
] " ' ~ I_ I 5' )
Q" e o THo 1w (D) CowRmE &
b 5 ‘
Who said, "The Principles [Direlc_rinciplcs) should be madc l%ie basis of all 1.
the future legislation” ? ) -' | , 2 l e :
— o | \ a2
(A) Pt. Jawaharlal Nehru | (B)  Dr. B. R. Ambedkar ’ j.\
(©) Dr. B. N. Rao # ‘T (D)  Dr. Zakir Hussairi?l . :;»‘
s O -l -
L2  Trfefan d & S deved 8w Y 2 - ;
A) T B) yE 3
€ &ETE (o) e
\ _, i 8 |
Which of the following does not belong to solar system ? . .| e -
| : (A)  Planets (B) Comets 1 | d
5 . ¢
x (C)  Asteroids .. (D) Nebulae R
] b } TRl
B s ¥
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The plants which grow on salin, Soi) b ._'.'1 s (
N LR

(A) xcrophytes 1 drophytcs

succulents ;* yalophytes
\_@’ﬁmﬁ@mmmmwﬁm\” mmaﬁqmi’rnﬁ'@mw
A ?
(© dem o A

Which of the following colours of j;, ifgoes the least deviation w_hﬂe

passing through a prism ?

(A) - Red X
(C) Yellow (D)
\'@t“ﬁ?a‘ﬂmaa{@h%aﬁmﬁ%) R
A) WRd | 3
The world's largest Telescope is in whic
(A) India- i (B)  Japan
(C) China United States of America ‘
) nmmq&auéﬁ@zmﬁwfﬁ _ ﬁaﬁrﬁ:ﬁaﬁ%gﬁﬁﬁqﬁ%.l
T, TR @ fobe weRr el € 2
() TE e .
(c) =T D) | T AW Bl
' ' , ”«e ‘ ly son of my father.”
N Pointing towards Garzma Rakesh sald : His | ather is the only |
' How is Rakesh related to Garima ? | :
] \«(a)  Brother " * .Father. |
(C) Uncle | | “ None of them
e AR TRt s e s s n T ' s ; 378
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aﬁltmmﬁlsfﬂaq&qﬂﬁmwaﬁtﬂlﬁ’ﬁm g o

ag 9 @ AR g aﬁt:zsrﬂ'e“(ﬂmlafﬁ"yfﬂgqﬁ T

fgan 1 g€ A WA el g we ® P

A sHR /"3)/ 10 HieX
go HieX

d then turned left and W‘ﬂkcd

|

© 40TR o)

Samir went 15 m to the west from his house an :
' left covered 20m.

20m. He then turned cast and walked 25m and finally turning

How far was he from his house ?

B) 10m ;
'

() 40m (D) 80m A i

Fet wisfr T 4k DEEP 1 60 78T RABIT #1100 @l STC, dl HAIR

=1 forar s 2 _ | | |
(a) 27 | - : /fé) 72 : #
| 7 D) 160 e,

(©) 90 : v
| ‘o ;
If DEEP is coded in a symbolic language as 60 and RABIT as 100, then how will

(A) Sm N

.

HAIR be coded ?

a) 27 g By .72 8
© |90 ‘1 ‘o) 160 .. S
U N L T

?Tﬁ‘x"'ﬂ'?]'\?ﬁ?i'@-',.

B+4x2-4+2=7 : ’ |
(A) . 2 | B) 28 | |
© 32 D) 36 .
.-:—'means'x','..,._.‘.;:\,!mcans'+'and'--q-'memB._:_.thén

If ' means ' -,

-4+2=7
8-_;:4352_*4%_

5 B B) 28 : :
oF y A Bpy 2 42
o o . (o 36 32-LtL
st - LI, TR Y, ..,_ ’ ars a e
1216800 | gat 71 ' s 4 /48
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2 gafﬂg
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; ” * '-. \ P! wc t See dun
For which of the following caU* cannot ;

"o

- Reflection
(A)  Scattering of light (B) 2

(C) Internal reflection

\@"ﬁmﬁ@aﬂammm

1 et \JP'/ e '\;g.f
© WETE % () » HTEEEH B \:}j |
| . Which of the following repgps_.é\;}ts a billion characters ? - i - ;
(A)  Kilobytes ‘ (B) Gigabytes 1
- (IC) | Terabytes . [P) Megabytes _ K
.\-, o Ty @ R T SRR sil il o
M ,lﬁr)’ o 3 },@ | : &
L Y @ T () (D) Rl ‘
| What was the early capital of Magadh ? --;'5_
I\, | ;(A) Vaishali - (B) Champa "
| (C) Rajgriha (Girivraja) (D)  Pataliputra |
}Q ﬁgﬁqﬁgaméuﬁﬁﬁq-mimwmw%%qmmﬂﬁg :
| S l_ (B) T
© Wowesdte D EEEH

Aﬁong thé following fuels of ?ﬁ"&gy: which is the most environment friendly ?
(A)  Biogas % (B)  Ethanol

- (©) CNG . ' (D) Hydrogen
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I HE | ” f:'slﬁl-'{ll HZ@ER IgL e Tosiar \
@ FHo ™o ma'u@?ﬁ GO 16 "T;, 2019 { ﬁ 4 i # ‘ -

....,g; on May 16, 2019 announce the

wifeer feat ?
- TS
- (©) ﬁﬁfqﬁ?ﬂ :

Among the following whom did X, ¢ e

i

——

&

winner of 28 Bihari Puraskar ? | . : R |
(A)  Manisha Kulshreshtha o Leeladha, Jagudi N | ,’ .
(C)  Keerti Parihar o m ‘. None of them. 1 ‘1
@ 12 5, 2019 %1 1% feeet o 54 5 CA ’_%Haaﬂ?ﬁﬁwﬂﬁmw% ? f
 w gimdeeE B e -

54th JnaI}pnl_-l Award was given to w Fghsh writer, in New Delhi on June '; %
12,20197 . ; | E
(A) Suﬁil' Shrivastava - 4 . Am1tav Gho‘sh ‘ : %
©) Yuvraj Bhattarai - 3 Léeladhar Jagudi TV ::
(A)  oWiE FEE By T SRS
© g D) T e _/’F;é
Among t.ﬁé following, ‘who is the Chif_:f on CbmmissionEr .ot' India. at .:‘é
present ?\ 5 | 2‘ :?
(A) Ashok Laﬁasa Sunﬂ Arora S Y 1 _Le

€ - Sushﬂ Chandra | i\ )‘ ' None of them

ﬁg'- Wmﬁalﬂé 20193ﬁeoﬂ‘§ﬁ3§mﬁaﬂﬂ%mﬂiﬁiﬂﬂwm
(A) e 2000 Ul OE
(C) Fo;*oooui%rmg
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(Bi Fo 3000 UTd HE

_:";"Jb.‘, .
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22.

ffztﬁi FTHT 15

k

0 farmers attaining the 8B¢ of 60 years to a)|

¥ .{
The minimum pension provid
cr' A | 4

2
F) by the Central Government from May 3]

«mall and marginal farm

2019 is :
' r mont
(A)  Rs. 2000 per month (B)  Ra. 3000 pe
sc
(C)  Rs. 4000 per month (D)  none of the \
AT e 6 2019 1 PR

frvs firfan 2y Asfiyvzs |
.3 @) A
(€ M o) TR HE ’fﬂi

is

(A) India () China

(C) Japan (D) . None ofthéé#-“g’-ll
frforiad | | fogent FRAE TR 2

) Hiwin @ e fa ,
g o e B

Which of the following is ;; t used in making solar cells?

(A)  Silicon (B) Platlnum x

N
| - (D) Germenium g |
5 ﬁq&ﬁmﬁmﬁm%j
_(B) WM‘E
D) 3BT 17 "ﬁ

n of India is related to nght Ito Equality before ;.'

(C) Galium

(©) aﬂﬁ? 16
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I(A) To T¥o Jo 2 %
© HARt
The brain of any coﬁputcr is
(A) ALU
(C) Memory
@)
= @
(©) a‘iﬂﬁ\mﬂqﬁ

At constant tcmpérature, the speed of sound i

following gases ?

i .'.,-

-y

(A) ~ Hydrogen
3

@) & 'a@?%%‘iﬂﬁm
Y,

(C) - Oxygen

7 i -

’ ’ ) . ' |
e 352" :‘

. © HTRT 371

Ji ‘National Emergency! may be declared by the

(&) Article 352

(C)  Article 371

-
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26, ‘e mﬁﬁqﬁa}q' T A1 € 2
‘g @ 2°E 4 B) 229 |
D) 227

©) 2 FERl

T he 'World Wetlands ._' is celebrated on which day ?

@ 2nd March (B) 22nd March

(C) 2nd February (D) 22nd May

z;'z.' TRV FU' e Ot A GeT & 2

_,(Af‘ﬂ?"bf V' _ |

B
) forehe o (D) & v 'r
"Durand Cup" is associated with which of the following gamcsl P | '
(A)  Polo - R (B)  Football '3
(C)  Cricket - (D) Hockeyl |
e A A SR E o wm R e 2 ]
T A e —ter e foe £
(€). SRR e D i e
"Swaraj is my birthright and I shall have it." Who sm-q' > ! R
(A)  Mahatma Gandhi . (B) Bhagat Singh
: (C) Jawaharlal Nehru (D) Bal Gangad_har Tilak
@ _Wﬁﬁ“ﬁﬁﬂﬁqmmﬁ:ﬂaq&mﬁmﬁlww . .
AT &
W AB) ARE 7 o ey

@ TEEAERS S o) g ww

LLCTT T
e L T T Y P P, 2itssnnany
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PAucztion i
n of India, Right to Free and ¢, tary

In Constimu'o -

included in the section on
A Human Rights

(B) Fundamental Rights of citizens

) Directive Principles of States Policy

(D) Nonc of these

e vl 3 R () 1 W E
" 1 | | a4l & e
: 201 =
- © AR : Jk( 42 é}u /‘ﬂ’

The nufnberofchromosomesit}thehuman ody af \?{'1‘/

(A) 48 (81 . '-. - i '}

() 44 (D) 42 .
TS =T S g o=l =

Tt S = A 1 3| gfe waH 5 9= T & s
~ 3 20 HE =l gﬁ “ _. &

Frad & 3;

A~ 16 _ ._..‘ “

c 14 - E

® 13

o 13

‘ | =rage € I:'?- five numbers 1S 12. The
3 The average of 20 r‘lumbers is 15 and the aveioss =

i avcrage 0[ me rcst ié_.i __ ' . Y . -
150
4 6 _ B) \ ‘
~ 13 ™ . . X >
=1 - © 14 ' b . - 4N
3 ; ' _g 909 AL ’ :
32. II'IF?{A:B'—'S:4.B:('.3.'-"5:7:"ﬂ""[C:D“a ~ d
e $ ¥ A .
4 @ 21:10 ‘-ﬂ: = ol
- »,_;s‘ LT 11/ 48
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¢ 1

&

plementary Education is
In Constitution of Indin, Right to Free anq Cor§ ?____

d in the section on 2 |

include
(A) Human Rights

Fundamental Rights of citizens

(B)

(C)  Directive Principles of States Policy

(D)  Nonc of these X,
@ uﬁamﬁtﬁwmﬁm)'aﬁmgﬁ% !
(A) 48 B} 46 453
e e N - iy B 2
g AN e /N/ 42 2~ H go
. ' A : ) : /;H')//‘” Y
The number of chromOs?me? in fihe _human . g p 1& I X0

(A) 48 | (B) 6
) 44 B o
1) 20 e 1 s 15 %) af v 5 Fea

M 16

(C) 14

&

o) 13

T

The average of 20 numbers is 15 and the averaE:

average of the rest is. | '
(A) 16 o K vt B

;’- AT A:B=3:4,B:Cu5.738C:D=8’

LI

. }n’;’ ‘L..
€ 21:10 by
215809]set:ﬁ“ | ..................... 11/ 48
‘:"E‘i‘-‘. Ir'r‘ ) o ‘
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fA:B=3:4,B:C"8 ANy 1y wg ;9 then A: D8 equal to

A 3:7 M 7:3
(€ 21:10 ) 10:21 |
O) qm:mnamuﬂﬁﬂl -ﬁ“”liamq’lqmﬁwdﬂ”mﬂﬂﬁlmaﬁ%
maﬂmrzﬂm 3101 3 et 5 SR &
/w’ 32 iR m 8
o) 16HET

Q/

© 4"
is 160 metre, and the cjiffcrcncc of two sides js

The perimeter of a ret
equal to the area of this

48 metre. Find the '3"’5-'~ e of a square whose area is

rectangle.
(A) 32m (B) 8m \
- (D) 16m \“i
7 N Bl kil R R AT
. g3

ﬂﬁ’f ggdpom"’"

g
®) - eI | -3
© 1000 \ upr~ 1250 g

'lc of 5 km/hr Crosses ab dge in 15 mix;utes. The

es) 18 g $ i
s

B) 750 ,\‘:..,

L% o 1250

A man Wﬂlkjng at the Iz
Jength of the bridge (in met

el A A
¥, 8T got 5+ cosee A = 37 sin A e &
‘ | 1 - A
£ B
Qe -
CRLE

,« '-F' ........ @éﬂ(ﬁ : o “!:::/ﬁ?’s w ‘12 / 4.8
E 2 {' G \b VY .

U o
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If A is an acute angle and cot A + cosec A . ‘. ue of sin A is
a1 (hy o \
© )

@\-/\mﬂ A Swaw & s ® B TR
@A) HAHUSH '

B) T Fum wwied & W anee
\9}/ AR F TG
— (D) T U TS & EEE

The Speaker of Lok Sabha in India is elected by the

» ] el MU
(A)  Council of Ministers \ o SR /‘& e
! p & b
(B)  All Speakers of State Legislative Assemblies ﬂ
& ey
(C) Members of Lok Sabha .

(D) Members of Lok Sabha and Rajya Sabha

@ G FEv 1 e S e N @ FH 7

g | = 3
A ; 1 | ot (B) L)
ey e A g O &y \f 4 2y
- Which of the following js a major source of °* "_! ' 1 - ,,éré," e
(€} Ash f.rg.rn “'Ol‘ig_mes ; ) W »ti &,_
[;1”6309 ]"5";!1;-}! !%... . oo R 13748 - 9
g3 L\ a 3 \ ;
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(A) Mahasmangd;?}f. '

w3t srerify sige & ?

ferg wErar 3R @t Wil

(A)  Helgehl

€) R

| Sea and Indian Ocean ?

Which strail connects :_ci
W)

(A)  Malacca ||

(B)  Bosporus

(D) Bab-el-Mandeb

Fr=fetfiaa & @ #{-mﬁ f EST 1 TTE ¢ 2

(A) TR
e D) FH q Eﬁé
Which of the foﬂo@ -Harapp?p port ?. B i

I A |
.~ (B) Nagapattanam

(C) Lothal (D) - Nm,_-l?_'f?{'these_ |

A H, ané\uarauﬁ i i % | Hy o .

%
(A) ' 465 FTDT, 25 % rr 1211%@ ! ! .
(B) | 395 DT, 25 i e 8 R } ) _ (
(C) 372 aﬂi@ﬁ 22 ] qa 1211&@ L ? N
o) wEaE i
- At present the Constl 1tio n of India compnscs -
() & 465 Articles, 25 Pats and 12 Schedules ~ y
(B-}/ 1395 Articles, 25" arts and 8 Schedules -
(C) 372 Articles, 22 s and 12 Schedules
(D)  none of these
[216809 ] Set-H T [sr-2s) oA
& 5

(D) a1 - 376l - Head

B) - AMEEH
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[ls |
'

S e SEe # -G o, ;__(?)%WH'H&‘{TQ?TT? |
< JAK, KBL, LCM, MDN, ? i J 00
( OEP | :
(€) MEN . (b] ; ;' | | |
Which option will take place of (?) in the - _‘n?mm , ‘ ;

JAK, KBL, LCM, MDN, ?

A) OEP (B) .

MEN '
/ﬁﬁfﬂ%ﬁ PICS) ﬁw ?ﬂFf (? D*WH if ?w\‘ 1

16, 23, 31, 40, 50, 61 ? | , L
_ ; ey
1B 73 g e 3
: ‘ . b - 8 y follow mber series ? g
Which number will take place of (?) in the follo¥
Js . fr-Aaitos 3 J
16, 23,31, 40, 50, 61,7 -
(C) 83 e BCEE R |
(43.) Frfefiam anepfer 3 Foert g ¥ 2 {
. A » :‘ : ( - i
' -F‘.' '\__
AN 16 (B) S
€ 9 @ .
o - ] . .....1""”.:‘_' bl LTI : |
216800 : S 15 / 48
(216809 | get. 1t Sr-gs(m B

AR .
e b W
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i ?
How many triangles €rein the following figure

(A) 16 B) 15
© 9 1) {
|a’ I ‘o] B € “HTmWﬁWﬁfWWﬁ%%ﬁwﬁfﬁaﬁ%@i
g el & 4.
h/ﬂffm% m)lﬁﬁ?_ f ;
o . D) W '
If ‘Sand' is coded as ‘Brick', ‘Brick' as 'House’, Hogse as ‘Temple’; "Temple’ a
patace’, then whelt SR worship ? {‘% ‘
p el | E Ten:ipl%\ o \
(C) Brick ;

%f@n ST ? ’

() FQMPR | QF‘I_& X

(C) FQMRP ."..' & Fi'l;a;'!R . 1
., El 6809 | set-.H ‘

16 / 48
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If LIGHT is coded in a symbolic langu"m‘

‘ how will SHORT be
hy I \
coded in that language ? | 3
@A FQ MPR iy ,
) FQMRP o

Q)

mmﬁszﬁmﬁwm‘m% qﬁ{!ﬂmaﬁl3@

LG
% far ST, o AEHE B
]
w S A8 6 |
W . I ‘
(C) 128 | (D) 7 | { . '
A number being divided by 52 gives remainder 45, If -a':-_': number is dividcd(by |
“i ,. 1 . 3 L. = : . A '

13, the remainder will be 3

- I . 3 N

-

=R

GV

17/46 ' a
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it
L]

% 3ﬁt 3:{:51 oTgad M"lzo 4 I dEmeg o,

o el w1 oI 8
L @B 35 |
3 )py 105. !

3:4 and their LCM is 1?0The sum of the numbe;,

(A) 70

(C) 140
The ratio of two numk
@), 95

I T, / .
; i

D) 105 i

Ua#qmﬁcrnqsom% a’rww% ?

m 60% of a number the résult is 60 The number is-

If the cost price of 15 Bgoks is equal to the selling price of 20 books, the loss per
cent is b e A ! ,l :
(a) 16 om0k

Sl ' D) 251k
[ 2 16809 ] set-H : “,:Il; ........... g,i;é.s‘ (.i.i.,. “.r, . & ’ -2
' N 5 d ' 18 / 48
W, . | | /
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53,

Ty (A . i

.........

(€

(B)

A9 (&) T (B) SRt

207
TET Uty
COMPUTER Sy, ,
( Q.Nos. B1 to 150 )
u&wﬁaﬁmimuﬁ*am%ﬁam,
FEa e ?

How can you update the values of formuly ¢4

ito Calculate mode of Excel
is disabled ? o

(A) F8 B}

(D)
m&mﬂzmﬁ%%mmé‘ﬂr@ _
T WS, mmﬁwwm |39 ©E 39 39 W T T
TRl 2 : : s g

(©) F10

You want to set such that when you type Bais

Excel should produce Jaistha, Aashadh and so
that ?

(A)  Custom List | ﬂ/ A 1o F | Options
Fill Across Workshcct (D) 1
mwﬁmﬁamﬁqmm:ngaﬁw -

Double CAL uidicator on status bar

Go to Tools >» Options >> Calculatio? '-: ' k the corresponding radio
button '

(D) Eﬁ“@lﬂﬁé?ﬁw _

19 / 48
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Excel ?

Where can you chang Utomgyjc or manual calculation mode In

(A)  Double CAL dicator on gtatus bar
(B)  Go to Tools > , Options »» Calculation and mark the corresponding r,

button
(C)  Both of (A) an

(D)  None of the se

you shnw'l hide the grid lines in Excel Wa;ksheet ?

How can
sve the check b

(B)
(C) Both (A) & "" ;

' (D) _
jyﬁmﬁﬁéﬁﬁﬁ'

mﬁ#aﬁaﬂmaﬁaﬁmﬂmﬁ ?

ng Excel screen components cannot cannot be turned on or off ?

(B) Statu;s Bar

/(-B)/Noneofthesc
aﬂﬁﬁTﬂ'ﬂ?aﬂe{a’:ﬁﬁCtﬂ+xfﬁlﬁ%ﬁ>{Wﬁ“

s & cell

content, cell ¥ g Bbfab-( clipboard # stored & i
oy s o Fafe A E
fife & ST & T cells el 3k AR & ST &

ST-28(11)
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\5-7./

£

What happens when you press Ctrl + X Mfley o

207

«ome cells in Excel ?

(A) The cell cor;tcnt of sclected co)y, : from cell and stored in
clipboard

B) The cells selected are marked for CUlfjng

(C)  The sclected cells are deleted and y,, ol of ifted left

(D)  The sclected cells are deleted and oy ol ed up

Prfafad ¥} 3 91 fowed Paste Specig) dialo 7 U e ?

Which of the following options is not availay), i1 _ci_a]ldialog box ?

(A) Add (B) *

(C) Divide ' D)

(A)
(B)
(C)

(D)

(A)

_JBP/—Edet >> Paste Spcmal >> Transpose

©

(D)

am%aﬁ@wqaﬁqﬁﬁﬁamﬁ%fm < 2

Cut and Paste
Edit >> Paste Special >> Transpose
(8 7 (B) 3K
i & i

ata intorow?

Cut and Pastc

Both (A) anii (B)

None of these ' >

4 Tl worksheet T FHITT cells 3 T T %m BRI

(N Data % 7R Friqee cells 3 €1 .
k. B) W data B MR wrier ells T ..
; Q) text % fo1d W oy S _pbreviat® -_. o
(D)  text & for mmﬁ%ﬁﬁwﬂﬁ }“
I 216809 | Set-H |
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It is acceptable 10 Jet! NG text flow jnto adjacent cells on a worksheet when
(A) data will be entE d in the adjacent cells |
(B) no data will ' itered in the adjacent cells

(C) thercisno sul ble abbreviation for the text

to format the text

Eﬁﬁw%ﬁmmmm% 2

(D)  thereisno i
'e‘% e g @ i A

(A)  Doctor's S (Big Plus)

(B) Small thin l ¢ -' on
(C) Mouse r with anchor at the tip

o FAII el

Which of the cell E‘in_ B u can make sclection ?

rs indicates you that you

(A) Doctor's s ig Pius‘]‘:. ) s ""I \ .
B) Small thin pl o I i
_er Mouse Pom i:h anchpir;-ﬂt thﬁ UP 3 ':I
. : 5:"¢: |

(D) Nome of these \ ;
g A @ N B e H 0 Wﬁ % 2
(A)  UID §E&A g 4 N | ®) Admnssmn HE&

31/

(©) Account¥ ¢ (D) PAN 1
Which of the following is a pnma.ry kcy ina student lable By o
(A) UID numbe.r-_ _(B}—-" Adm:ssxon number
(C)  Accountnu .;.':; r (D) PAN :
\62/ ﬁﬁﬁ"‘ﬁgﬁﬁ@m HH a‘ﬂ'SQLCommand% 7
Which of the folloy a valid SQL comma.nd i
cin L “ (B) cout.
1 M) !
Eﬁ wple | _B7 select
16809 1 Set-H y ' '
- ‘.M r; s | k: :
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P wEs WAl g & e BT Power Ty
‘F which PowerPoint view works best for mm,“

/w,} Animations (1)

(C) Transition Wizard (D)

Qbjects %
ot C )

\
Objects arc 3
(A)  Design of function © .  (B) f data |
(0} Instances of classes | (D) block
6. 4 U% Embedded 73T chart object T Wy -
s N el E
T (A)  Double clicking the orggn_iz:ation chart object :_ :
(B) Clicking edit object ™
(C) Right chckmg the chart object then chckmg dlt MS-—Orgamzatlon Chart
)
object S E § °
\ < , ] Tke_u, i
(D) _(A)am[cm’m‘f SRl ,,5” < 4 ,

You can edit an embeddcd orgamza'uon chart Obje%*by

e

{#r  Double clicking the orgar;i_iaﬁon chart ob_lecitf__al--.‘_
| : il
(B)  Clicking edit object _ ' ¢

by

©)  Right clickingithe chart object, then /7 St MS-Organization Chart
object VIR
(D) both (A) and (C)

6;3 Boolean S # A A sr7ey &

In Boolean algebra A.A is equal to

_ - 2R
A) A, ; (B) :
» om 1 SN
o w A -
ertiseng . b . A FPrID) e \ 23 48
[216809 | 8et-H =~ . . [&r.2 L . /
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-~ 8
Slide sorter can be B¥

(8 View B  Edit
(C) File | (D) Insert
68. Boolean STV ND operator 1 T4
/

incl'.icm of AND operator is

B -

oy |
‘-\\_“.

< / '
%mmﬁﬁwwww%7

(A)‘ Format ’[B}/‘ Shde layout

(D] Nonc of these

(©) ) Slide sorter view
W logical FAE § F ﬂifBooleanaﬁWTﬁﬁﬁ + a%fagm ?ﬁﬁﬂTﬂﬂT% ?
| @ OR . Y (B 7 NOB
() NOR h (D) -AND ,'
Which of the followinglogical operations s replréscntfd,by the + ﬁigh i:}ioolcan
algebra ? ' a ; '
44~ OR (8) NOT |
" © NOR - | (D) AND -

1. o fafE S FI e 37q4 Je & foig W_sinél_e cohcrent'fﬂm‘mm &
When collection of ,L‘ computers sepms’ .a s;_lr.lgle coherent sym'm to its
client, then it is called i '

‘ﬁ (A) ~ computer I‘%-,: . (B) disﬁihuted system
5 ..&_ (C)  both (A) and :J] ) >~ (D} none of the mentioned
[215309 ] Set-H . - “ST-28(1) | : | 24 / 48
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2 fears® ear o &, 3R

72.

# A) @mﬁwmm&
(B) ﬁﬁaﬁﬁﬁ@mﬁqﬂﬁ
©) Eﬁ@ﬁiqﬁ

Two devices are in network, if

[A]: a process in one device is able , -
(B) aprocess is running on both devigg,
(€ PIDs of the processcs running op .

/;D) - none of these | |
73. e & R A W I A ey g & ¥ T T E 2

network ? ‘ 3 |
(A)  Prior network - - fncgwork
- L "
_AC) Primc network networ

74. /9 ﬁﬁé;ﬁﬁodes%_ :
(A) the computer that oﬁginates the data - T
(B) the computcr that routes the data %
(C)° the oompu{er that termmatcs the d2 | r\
(D) saﬂ 3 wit, S 'y
In computer netwbrk nodcs are ".
(A)  the compu 4hat originates th e 42 &
(B) the cOmpumZm at routes the datd

g dala
' €
(©) the computeﬁmat tcrmiﬂates L

\JB]/all of lheae‘_

(216809 | Set-H
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207 b,
7S,/ e S TS h Al mwmma
" () broadcast network (8)  unicast network 3
(C)  multicast netwd.. g (D) o @ R el

el igBhared by a1 the machines on the network in

Communication channel

.JM/broadcast network (B) - ‘ﬁnicaét network
(C) multicast netwoi‘ (D)  none of the these

. T ST § it pa ts 3 routing sﬁam”r #Y processing FH ﬁzaz% &

76.
“ﬁ?‘r packets ﬁ forward T

2l
4 (B) i Fn'ewall _ _
sqﬁ@wfr 3

ssmg the

(A) Bridge

(C) Router __
{ s packets between nctworks by proce

.......... is a device that !
routing information inclu in the packct -.{f \
@ Bridge E B)
/(c/ Router - D)
% éaﬁmmwmaﬁ -aﬂaT% BN Ty L &
1 \F The structure or fornéqz_oll ':; is callcd U, , G T
(A)  Syntax - % (B) Scmantiéél-i (B e i ‘
Struct B ] (D) " None olf th;se
78. G m—m@a;ah 1 gmﬁvﬂﬁwﬁq?»r%'”
‘ Communication m,;_. ;.;' computer and a keylgpard mvolves RO
transmission. ‘ . . o b '
_(Ay~ Automatic ! ‘ . (B) Half-duplex
(©)  Full-duplex F D Simplex |
79. ﬁwﬁ@aﬂawm e T E 2 i
. {J Which of the follwing is m. "ncmrork edge device ? I
B Smartphones
R (D)  Switch *
" g’l‘-ZB(H) - :. 26 /'48
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Transmission H4T & uw ; 3
80, U '137'3-.' i j transmission speed v ?
Which transmission medin has (h, Iy |

heg | 1gaion speed in a network ?

(A)  Coaxial cable {81 _'d pair cable

J;y' Optical fibre

1 ¢ éal cable
] LI Y & 7

v} (A) Doctor's sym'[:ol (Big Plus)
I(B] Small thin plus icon
(C) Mouse Pointer with anchor at tp, tip
(D) None of tht;se
Which of the cell pointe;_'sl indicates thatyoy can
18 _ Doctor's symbo] (Big Plué)'
(B) Small thin plus icon ]

©) Mouse Pointer with anchor at thetip 4

1 .‘I
(D) Nonc of these . -
i e
szfmasﬁzmmﬁﬁzﬁﬁmﬂﬂ?
K (A) Qﬁ‘s’ﬁ?a‘%{m ' B) ﬁwaﬂrm
I el RSt SRS gRT
© U TR E ,
. sited DY '
On an Excel sheet the active cell is indicd /
‘ k wide border |
(A)  adotted border P :
g 7 italic text
©  a blinking border |
83, ﬁﬁﬁqﬁm'mmﬁﬂaﬂ“ | |
-e What term d i : v text alla -.iﬂ.IClﬂ} ? A
ccrbenexplamatery 5
, (A) Context 9 | [
(€)  Comment h *
........................... 27 /48 .
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[207
84, /’ﬁn i A w uE

.\\

g Celly &Rl A4 G| O 7

(A} Using the Edit =% ect All ey 71 AT &R

@) @yt el ¥ AR
(C) el i aTEIT mok B button @ a1 ﬁ‘t"lﬁ h{

(D) o7 Q@ g T

Which of the followirlg will not sclect all the cellsin a ficcument ?

(A)  Using the Edlt- Select All menu

g Ctrl + A on the keyboard

(B) Pressin
adsheet

s with the ri

ﬁ]/ Clicking three {imes

ight mouse button in the spre

(D) None of these .
. —
g5/ T 7% workbook H T 3 foru Fewiee ¥ €
The default style for "_:_-‘.-_-‘.- ;ta keyec!. ina nelw workbook is ?
(A) Comma ___[B}f‘ . Ho:merl
(C) Currcncy- *(D] . Per cent
\gs/w B v <o £l cell 29 <refim feraree & & 3 wfiepr HT ¢
i)
If you press .......... i _.cell accepts your typing as 1ts';contents
(A) Tab ” | (lé) (:‘,trl+Enter
ey Entex :. (D) A111‘*1.‘3111:Ier
/ﬁmﬁﬁﬂﬂﬁﬁ?—mmﬁgmvﬁr@nga '
Which among the followmg ;s associated with Excel ?
(A) Graphic pmg;am (B) Word Processor
[2 (C)  Presentation f ' \_P)/ Spreadsheet
e v T —
6809 ] Set-H '-‘-.“ . = /48
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88. = o ¥ g Function %] H'[ﬁﬁaﬁ i
( 0§ Tl (True) T 71T (False) e, }"f 5 ¥

(A) NOT

ffgl
€ IF
, (D)
Except which of the following ruﬂctirm‘

4 fort
the words "TRUE" or "FALSE" as a r¢,

(A) NOT B

© IF

(D)

Which of the followin_g is not a valid 200 pe

a) 10

(© 300 50 o

90. Conditional Formatting TF] FTd T 71T sess.. & @IS fegfa =1 == =T

P wE _

A IWITE R B

© (AT (B)SHI

| .?ts when applying conditional

™

B  Formula

\ . st
You can checlf the conditions ag2&*

formatting.

o

_(A)  Cell Val

) Both (A) and (B)
91,/ UNIVAC & -
‘\

UNIVAC is ‘L

551
\-'f(‘ﬁ( Universal Automatic Computﬂf

-

p)  Nonme of these

.(B] Universal ‘Ar:my Computer
(€ Unique Automatic Computer
(D) '

Unvaluedia . uter
uedAutomatic ComP 29 / 48
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92. U& Computer BRI [4 Hjepsy by
/_\I I J .
(B) Logical operation

(A) Al‘ilhmclic (o)} 1
” ) i aa

(C)  Storage and relat

The basic operations P
(A) Arithmetic OP erat _JB}/ Logical opcmlion
(C)  Storage and " (D)  Allof thesc
93. Diﬁcx‘c?cc Engine HTE ? » |
Who 'is the inventor of "Dil! f’encc Engine" ?

By Allen Turing, (B) Charles Babbage
(C) Simur Cray (D) Augusta Adaming
ter % [T 7 7?

' H Microprocessor frg ‘iﬂé’f &% Compu
gcﬁeration computers

94. “Switching STV &
\,/

ors as '.'= ing devices are for which
(B) Sccond Generation

4 \_/[Df Fourth Generation

Microprocess

/' DOS &1 92 M § _ | ®.vT

-

(B) | Disk Opgfrating Session

\_[A)/ Disk Operating S$id em | .
N '
(C) Digital Opcratix; System ‘(D) Digital Ofscn System

\/Ason #X EBCDIC aﬁiﬁq Charactcr Coding System, % gBCDIC & G0 TH &

Ascll and EBCDIC ﬂ-l'c thc popular character codmg systems What does

EBCDIC stand for ?

DOS stands for

Decimal Interchange Code

‘_/(A')/ Extended Bin Codcd
(B) Extended Bit Code ‘Dccxmal Interchange Code

(c) Extended Bit :.‘;_.._;:_- ecimal Interchange Code

(D)  Extended Binary Case Decim

al Interchange Code

ST-zs(If)' T ——— oy

[216809 | Set-H
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E-Vcomputer o foe (SR9RTE) e )
who is the father of Computer ?
(A) Allen Turing

(1)
(C) Augusta Adaming

\br
i e T et &Rl R gy
Jd U\)I tracks per inch of surface " bftl fer inch of . .
! (€) disk packin disk surface 0 'ﬁﬁ @

Storage capacity of magnetic disk depengs o, |
(A}~ tracks per inch of surface B pits per inch of tracks

disk pack in disk. surface D) _ allof these

\ﬁ FhR & Main mcmory%-

Pmna:nj and Secondary '

’@ROMandRAM- o Eﬁ@g‘ﬂ

The two kinds of main memory are
'

(A)  Primary and Secondary

B Random and Sequential

B) Random and Sequential

(C) ROM and RQM ol All of these

100. UF Storage area M <2l @l 39 ﬂﬁ'ﬁ%,%
m%mwﬁﬁwm@aﬁw

; " - Pensate for the difference in speed at
storage area uscd to store data t0 ©

is
which the dlfferent umf_s can handle data

(A) Memory 'y ‘B]

' : Acidress
’ —49’/ ' W
Accumulatoi .
‘ i ' . . 31/ 48
| 216800 ] serms” e 28 (1)
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101. Custom Animation 18

¥ | g & wifen
| lick the g Path (B) click the show effect button
(A)  double click &8 _ |
| D) | it @ IS T

_ : y .
effect using the custom animation task pane, we

L |

should
/GA‘J/‘ double click thc mo! (B) clic_:k the shqw effect button
oublc Cir I
f these
- (C)  click the play butt _. (p) N?ne of
Mﬁﬁaﬁ#msmﬁn ommand & ? a» b &
Which onc is a DCL command in SQL ?
SLECT -
(A) UPDATE | (B) ~ SEL :
_ o
(C) .DELETE Py~ GRA
aﬂzmﬁm@%aﬁaﬁ?ﬁrﬁ% Fﬁaﬂr‘aﬁ

! ‘n : i ,.' ‘ﬁ ' a
u présé ‘and hold the lt;"t}t mouse key apd move

What is the term used when yo

3
. A
i |

y Dragging
(D)  Highlighting

d%a%@ﬁﬂqﬂwzmﬁma;

the mouse around the s
(A) Moving

(C)  Monitoring
104, FrAfeifad § @ 17 @ SQL ¢

&

Which of the following 8QI, ¢
('B) INSERT |

(A)  CREATE
uﬂf)/\ SELECT F (D) UPDATE'
[216800 | Set-H . ’._'""'é"r-z?s(l'n 82/ 48
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105. 'ﬁﬁwwmwﬁ%

effects for all slides in a presentation, ., -

—

(n) Shde )  Notespage view
Outline view | .
mh¥TE B
106. /Math. |
Math.h is a
iy
(a)  Derived data typ B) _
Aer B HC?dcr ﬁ.le ; D) . "'-.-':':_'!]-Zt"- data type

107, b FesTe 2weie A A ST Wy
\-Ib (a) e curreﬁjt‘ slide % foe 1
@ o e | 3
(© @ﬁﬂéuﬁ%a’rmwmh @
(o) T aft
The selected desi ‘iemp{ate can be appl%ed .
(A) to currentl gli’éle,oqu

\Mo all the sl?iés +

L w) .- ate y
~ (C) to all the new presentation you cr¢
. ‘ e \ -

1 Ml of these "

ontent but Auto Content Wizard
(C) Slide DES] does not provldﬂ 5 : y
prligles & content t0° at Auto Content Wizard does not
(D) _

une
s
Y

. . . 33 / 48
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petwee! "‘e Design and Auto Content Wizarq is
The difference - , | ‘

D) Slide Design \ our choice in steps but Auto Content Wizard does no

0 - ] :
' In which menu can youdl nd features like Slide Design, Slide Layout etc. *

,\@/fnsert Menu i

()] ~ Tools Menu

110. ﬁﬂwﬁqamaﬁ

\P FHATE ?
Wch menu provides you the options lijce Animation Scheme, Custom

Animation, Slide Transition ?
(A) Insert Menu %‘- \ \)/' Format Menu
f.,

(D) Shde Show Menu

o
(B) Format Menu
(D) Slide Sho{y Menu

‘Eﬁ?ﬁ[ HeH Qﬁﬁ?ﬂ WTQG’ tra.nsmon 9 faeheq WM

(C) Tools Menu

111. _Wwﬁ?ﬁmgﬂﬁﬁﬂ% ﬁ#aﬂrﬁ'ﬁ% , <
| 70 (A) Accuracy TRl (!3) Rchablhty
(©) | Diligenece (D) Versatility

Computer is free from tiresome a2nd boredom. We call it‘

\Jﬁr)/_” Accuracy | ) (B) * “Reliabjlity
(C)  Diligenece ; . (D) - Versatility
i‘&lﬁno . S .. |
9 ] Set-H 34 /48
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S

Integrated Circuits (ICs) are re
(A)  First generation
JQ)/ Third gcncruﬁon

113. CP<ROM ¢ T
N

(A)  Semiconductor memory,
(C) Magnetic memory .
CD-ROM is a

(A) Semiconductor memory

(C) Magnetic memory
114. T hybrid computer

(a) fefiem mga e 3

(B) A T Sy

il?. ntcgl‘ﬂtcld Circuits (ICs) Pt-h‘{]' ‘ﬂiﬂ &

]{ll(}(] lo

-

i 207
q A
: ._
""I"’lr:r'{}._w %7
e »
l, ch:'gﬂltlt)ﬂ of computers ? .
y Sgwﬂd gencration
Iy pd%ﬂh generation
3

) Memory register,

by @t

B  Memory register

D None of these |

©) ﬁ%ﬁmwwmﬁm

(D) ﬁﬁﬁaﬁéaﬁ

A hybrid computer.

A" Resembles caigita.l computer

(B). Resembles aﬁaid_gue computer
(C)  Resembles bo\ﬂkas digital and an
(D)

Nonc of these ;

alogie computer

' v mmﬁ%ﬁammwmﬁ“mm% T EBCDIC T ST

i % ?

A
|

Whi i
ich lYPC of ComputEr uSCS the 8- bit COd el

@ ..

(B)

led EBCDIC ?

Microcomputers

Supercomputer

35/ 48
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{B/cnmputerﬁl Hll_ Y e w361 4
™ nds ( (), commands c?ming s
» gy control £
(D) Cache memory .

Yacuum Tubes a91 Valves

it @ T

(D)

eration computer was
(B) Vacuum Tubes and Valves
- (D) None of these
% L e et & G F
| .

na dwa.rc and software ﬂaat'facﬂitates the sharing of

-:-f' devices.

Mcripheral

(D)  Digital device

/(f)( 4 bits : T, R

| (D) 9blts ’
Siks tﬂﬁ%ﬂtﬁﬁﬂwm7

1

(B) MSI
) (A) ™1 (B) gL

210 was used in third generation of computers ?

‘<

MSI

«(B)

Both (A) and (B)

136 /48
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207I
121. End Key
_f () Cursor &l line % 3 TH Wl]%
\/ﬂ( Cursor i documcm.iﬁ 3tg qu;
© Cursor I pﬁragraphﬁ; at \:Tl
| ; ny
(D) Cursor 3‘?\T screen & :ﬁa ?ﬁ? %%
End Key
(A) Moves the cursor to the end of e o,
(B) Moves the cursor to the end of 'ﬁdoCUme‘nt
© 3 Moves the cursor to the end of lhe -
(D) Moves the cursor to the end of the yreepy
192, *Ctrl +Page Down" T STANT feHa < i
" (A)  Cursor Hi TH. paragraph I T e -
/(B‘)/Cu\rsor'ﬁ U page I 9o &
(C) Cursor Eal Qﬁﬁ iine e Elﬁﬁ & ﬁﬁq
(D) Cursor Col W--_.St:.recn Eie] el F &
"Ctrl + Page Down" is used‘to )
()  move the cu'i*\:_sof one pa‘ragraph dow
(B) move the cq:tfsorlone page down
(C)  move the cu;sor one line down
(D) move the cu&; one screen doW?
123. "Ctrl+ Down Arcow: 1 3T o A € .
} (A} Cursor %t W‘Daragraph A= ﬂﬁﬁ
: .AB)/—Cursorm’[ TH lme -qﬁ'F}f 3 fet
(€) Cursor &) G Page A3 ﬂﬁlﬁ % ﬁr
(D) Cursnrﬁ qu.s?{een B .qf,ﬂﬁ 'a? IIIII e
[2 15809 ] set H Ag
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T R e o M AN W N =

%

o

Ll . ;!
"Ctrl + Down Arrow” i

g€ PATORr0 )

b ! down

» the curserl
A) move the |

( b nc (]'I')wn

(13) move the cu

(C) ~move the cursot

screen (own

T A 7

(D) move the curs_ :

104, Tt A @ B non-linek
\ N

i - at t

Which one is a non-AHEE a structure ?

(A)  Stack (B)

(C) - Linked list

g fopa rrn?ﬂ%
& 3 o o % T

125. "Ctrl + Left Arrow” key

—

(A) Cursor [ line 9

Queue

__4[)‘)/ Tree

(B}~ Cursor &l & of Eﬂ# a;ﬁ‘q | -
(C) Cursor ! rraph 3N ﬁ'ﬁ@.'&v‘ ?I'Q'
(D)  Cursor & graph 19 ﬁ_‘ﬂﬁ % wY
“Ctrl + Left Arrow" is US| i v
(A)  move the f‘ "e bcginning of the line *.‘ﬁ} _
(8) move the cu , R ord leftill \
(C) move the curso;-- . igaragraph up X
(D)  move the curaur.‘fe paragraph down \
: 126. Abstraction WW,, .. .".
f\*\; Abstraction megpg W
\ (A) Summarimtim ‘ \_(.B')/ Elimingtion
¥ g | (D) Casting
A N ST )
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\/1 Ctrl + Page Up" Key T 394 ai?n 4
_/(A.)/ CursorEh)fQTﬁ pagemﬁmﬁ% [

(B) Curaor H TH paragraph E2N F}

(C)  Cursor ! U screen IR A AR -’;

(D)  Cursor % TF line TG o Gn# & w

"Ctrl + Page Up" is used to -

(A)  move tﬁe cursor one page up R

(B) ' move the cursor one_' pérégraph up
(C) move the cursor one scrtl.zle"n. up ‘

(D)  move the cursor one line u'p N

128. Polymorphism ......... .. I T fogiwar 81 o B
1 . 4 F e | ="
| Polymorphism is feature of ) 4 % i
(A) Procedural programming g . S
(C)  Non-procedural progr ammiﬁg | Oriented Programming
120. #Ctrl + Home" key 1 Sy Ay
/(A‘)/ Cursor %I document 3? ?IF\ R Gfﬁ
(B) Cursor?ﬁlmc*ﬂﬁﬁﬁﬂﬁ%m
(C) Cursor_?ﬁ]' paragraph & bIES) 4 o
o) T E e
"Ctr]l + Home" is used to
L W8
{A)  move the cursor to the. bchnnmg
(B) move‘, the cursor to
(C)  move the cursor to the begi 5
(D) all of these -~ )
39 / 48
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207
/'(Ctrl + End" key I

g

(A)  Cursor &l line * ﬁ o o & feig

_‘[B)//Cursorﬂ’ﬁdﬂcu t%amﬁﬁ?rﬁ*m
(C) Cursor %! paragré] % 3T 1 o 9 & [T

(D) = Q FE T

(A)  move the cursor 0

(B) move the cursoi‘_'

(C) move the cursor_jf?l‘b.ﬁhc_ end of pa!ragraph

none of these =

/wﬂfﬂ%?

A single networ '

ﬂ/ﬂ vast calkcctlonf d1ffcrent networks

cy Intcrconnecuon’,} local area netw_orks

D) sﬂﬁ%‘rﬁs‘aﬁ

—

What is internet ?- ..g 3

A A single network

(B) A vast collection of different networks '-

(C) Interconnection of local area networks

(D)  none of these

\}/Wﬁz‘“ﬁ*?ﬁqmﬁqﬁ -

To JDlﬂ the mtemet the compute’ has to be connected toa

A
(A)  internet archxtecture board (B) internet sacxety

(C
\)/ mtcmet service Qrovxdfv'f

[216809 ] Set-H

(D) mnone of these
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133. T WHE 3EH Jeud 3 ot w
'\)Lm%mw%

Internet access by transmitting digital

network is provided by
Mcased line
(€ digitél signal line
134. ISP 3797 2o & A TeE Stheh I &

76 (A)  internet exchange point

(C) isp end point '

(A) . internet exchange point | scriber end point .
(C) isp end point .' . ne of these | :
135, Fefefad & § S 91 e 20 3 I ! 3.
2 »
(C DNS
Which one of?e l_'ollowing protocols is not Usec in internet ?

(A)  HTTP | ‘
N\ ! A
(C), DNS \ - ) None of these

136,/ 1Pv6 address ¥ 3 '_ 'f-
@A) 327k . l‘;;:
Aer” 128 % ‘E&
(A) 32 bitsé_ . (B) 64 bits : ;‘,
(©) 128 bits . [D)_; 265 bits - "

41 /48
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pe

R AR RS MR r—

IEEI' F | i :j.
ylnlernel HIH Al a A -' ' o | | \
/{A) packet switching T L I |

(B)  circuit switching W
(€)  packet switching T (.ucu:t switching ﬁ:ﬁ il
D) T F TN E W
Internct works on
(A)  packet switching . ol 3 'y \
(B) circuit switching
(C) both packet switching and c:rcmtsﬂntchmg "-] 1 | e W
(D) none of these .. |

38. ﬁmﬁfﬁéﬁﬁﬁﬁ?@wﬁzﬁw&aﬁaﬁ Apphcat.lon layermﬁ:ﬁﬁ

\7
%- ? | AR AN -‘*““

. : I Jhur g L [ ; 3 '! t !
(A) remote procedure call '[B) , mtemet relay chat S Y

"'2(9) rcsoﬁrce reservation ‘]')rotoeol (D) 3?& @' aﬂé Hﬁ

Whach one of the following is not an applleauon layer protocol used in 1n&ernet P

: _ {_‘_._!*. )
(A) Remote procedure cal] \ [?): 1k Intemet rel ay Chat

I‘

(C) Resource reservat:on protocol \ID] None of these .

1:5. I A AT, Wﬂﬂ% chentﬂffIPAddresg;mW% 5 3

(A)  DHCP - 1

Which protocol assigné IP address to

DHCP X
(Al IP g

(C) RPC
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- 140. Mcdia Ac

ccss Control d ﬁqﬁqf@?‘ i

7‘{) (A) cthcrnct

ubscriber lme_ .
(B) digital 8 .

(c)~ fiber clxstnbuted data mterfac 1

i A

Which one of the following is not Useq i media access control ?

(D)

'[A) Ethernet
(B)  Digital subscriber line
(&) Fiber distributed data interface

(D) None of these - : _
141 T, 2 T aﬂ?ﬁﬁ\ﬂwﬁmﬁﬁm%

(A) orgaruzat.ton of data (B) : programmmg standard

(&3] codmg ([5)‘. program desngn ‘

" Term, Data Stil-ucture referRtar. and mteﬂﬂlaﬁOTlShlP between them:

(B) programmmg standard

B organization of data.m
: (C) coding Bl {D) _ program des1gn
142, ‘%E(Wﬁ@a ......... mﬂii’lﬁa%",' B\
' ’-f In data structure, data may of ,,,,, tYPES - W
A 1 B) 2

' Variables which can be acceigd by all modulcs of the program is Caﬂed _

~ Auto

A Global (B) :
‘ ©) .Stat.ic ' Local
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RS ..-f-{ R 0 e
207 ;
k?f- Stack, Queue 3 [,in](g;i ﬂat [ o1 3uanT A @y, fin o "

‘ Stack, Queue and Linked liat can be implcmcntcd using \

A" numeric variable | (B) string V“ﬂablc
(C) logical function ' (D) array

145. Hyperlinks, T Word document 31 .37' dfer A T A &

70 (A) TR word document
(B) www T T& webpage
(C) U&H 3?5'17'15[ Internet 9 Ush webpage . :
D) FTH I TR i '..i | ]. _

Hyperlinks can be created between a Word document a.nd

,@r another word document Tl

a webpage on the www &ss ¢ N

(C) a wcbpage on a company Intemet 5 o

\_/(,D] alloft.hesc al A _e o

ey e R | Ay

: 146/31'[‘:[ clip art, Insert oY aﬁ 3’ ;:
"
(A) Insert choose Plcturca a9 Clip %’t )
(B) Choose Clip Art icon, @ Drawing toolbar. kY
v fate U

s \
o THAH g el 5
You can insert the clip art from . ’{ "
(A)  Insert choose Pictures then 'cﬁp.,_ Ar‘t . ,_;ﬂ | - .
! =

e

(B) ChOOBC C]lp Art icon from Drawmg tDOlba: %,

(C)  All of these :
(D)  None of these s

[ 216809 ] Set-H
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147. T ST FHAT & 2
;(" @) ;ﬂ\qﬁiﬁ# (B) T H EE
© e A oy it & B
‘Which of the fonowmg Cmmot be dop, With dog mc‘aﬂtI Version ?
/@_ Modifying a verllon , B) ';j_ deﬁng a version

(C) Openinga veralon D) R one ol' these

148
-ﬁ When you drag‘selc_t_:'ged text, you cap

YT Delete text (B)
(C) Copy text ' (D)
149. 379 T& word document e} @?[ EFT Wi g E
(A)  Formatting a;ﬁ_'"t{ (B) N pemal characters & fag
(é) Phran.‘..‘S} fee . (D) - ﬁﬁ @ Fl"o:ﬁ
. . B
-Yoq can search'in a word document for -
~{A)  Formatting (B) ,?.Q'Spec_ial characters
(©) Phrases ' (D) ! All ot_"th'ese

\/L am ol < f Rt g WA Sl
() T T R ) g -3

"~ (B @hﬁ&i‘z’ﬂ%gﬂﬂéma’rﬁ“
© ﬁ?ﬁaﬁm@a@m G

O I | i ;

You can add a date to 3 document b/
() Inserting a tlext ci_ate i B
(B) Inserting g ga¢e field that wil updsite-:al:ltomatica}lly
(C) Typing’the date manually xj‘f‘ 3
Mf these : ;
fT
! (216805 sepz i ........ - el t g b

\ h 1
v A o
" -
& B
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